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Likewise, we have:
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where we use the fact that aWt = σ+ϕ
1+ϕ ȳ

W
t and aRt = 1+ϕη

η(1+ϕ) ȳ
R
t to derive the

second line.
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Log-linearizing this equality, we have:
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Combining Eqs.(A.4) and (A.5) yields:
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with lnP ht ≡ 1
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Plugging Eq.(A.7) into Eq.(A.8) yields:Z 1
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As with Eq.(A.9), we have:Z 1
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Eqs.(A.9) and (A.10) imply as follows:
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Plugging Eq.(A.11) into Eq.(A.6) yields:
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Note that:
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Summing up over time Eq.(A.3) yields:
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Plugging Eq.(A.15) and its counterpart in country F into this equality yields:
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which is consistent with Eq.(48) in the text.

B Gains from Policy Cooperation

In this section, we calculate gains from policy cooperation following Monacelli[2].

B.1 Gains from Policy Cooperation under PCP

Combining Eq.(47) in the text and its counterpart in country F yields:
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Plugging Eqs.(28), (41) and their counterparts in country F into the defini-
tion of the deviation of the TOT from its efficient level zt yields:
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Combining the first and the second equality in Eq.(B.7) yields:
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Plugging Eq.(B.9) into the third equality in Eq.(B.7), we have:
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Iterating this yields:

xWt = 0 (B.12)

Plugging Eq.(B.12) into Eq.(B.10), we have:

πWt = 0. (B.13)

The fourth equality in Eq.(B.7) can be rewritten as:
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Pluggging Eq.(B.14) into Eq.(B.8) yields:
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Plugging Eq.(B.16) into Eq.(B.15), we have:
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Plugging Eqs.(B.13), (B.17), (B.18) and (B.19) into Eq.(50) in the text
yields:
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Under the non-cooperative setting, Lagrangean is given by:
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FONCs are given by:
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Alternative Lagrangean is given by:
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Combining those FONCs mutually, yields:
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ε+ ϕ
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(1 + ηϕ) ε2
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Plugging the first equality in Eq.(B.21) into Eq.(B.1), we have:
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β (1 + ϕ)

1 + ϕ+ ελ (σ + ϕ)
2Et

¡
xWt+1

¢
.

iterating this forward yields:

xWt = 0 (B.22)

Plugging the second equality in Eq.(B.21) into Eq.(B.2), we have:

xRt =
(1 + ϕ)βη2

(1 + ϕ) η2 + λε2 (1 + ηϕ)
2Et

¡
xRt+1

¢
iterating this forward yields:

xRt = 0 (B.23)

Plugging Eqs.(B.22) and (B.23) into Eq.(B.21), we have:

πWP,t = πRP,t = 0 (B.24)

Eqs.(B.22), (B.23) and (B.24) imply as follows:

πP,t = 0 ; π∗P,t = 0

xt = 0 ; x∗t = 0 (B.25)
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Plugging the third and the fourth equalities in Eq.(B.25) into Eq.(B.5), we have:

zt =
4Γ0 (σ + ϕ)

ω3η
ξRt (B.26)

Plugging Eqs.(B.25) and (B.26) into Eq.(50) in the text, we have:
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∗
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i
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Plugging Eqs.(B.20) and (B.27) into LNCWPCP − LWPCP yields:
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(1− β)ω23

"
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#
[var (ξt) + var (ξ

∗
t )] ,

which is consistent with the equality in line 4 in page 37 in the text.

B.2 Gains from Policy Cooperation under LCP

Combining Eq.(35) and its counterpart in country F is given by

πWt = βEt
¡
πWt+1

¢
+ καx

W
t (B.28)

πRt = βEt
¡
πRt+1

¢
(B.29)

Under the cooperative setting, Lagrangean is given by:
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( ∞X
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¡
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¤
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¡
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¢¤ª
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2
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ε

2λ
π∗t +

1

2
μ3,t − μ4,t = 0

xWt − λμ3,t = 0

zt = 0 (B.30)

Combinig the first to the third equalities in Eq.(B.30) yields:

πWt = −1
ε
xWt . (B.31)

Plugging Eq.(B.30) into Eq.(B.28) yields:

xWt =
β

1 + εκα
Et
¡
xWt+1

¢
. (B.32)

Iterating this forward yields:

xWt = 0. (B.33)
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Plugging Eq.(B.33) into Eq.(B.31) yields:

πWt = 0. (B.34)

Iterating Eq.(B.29) forward, we have:

πRt = 0. (B.35)

Combinig Eqs.(B.34) and (B.35), we obtain:

πt = 0 ; π
∗
t = 0 (B.36)

Plugging the last equality in Eqs.(B.30), (B.33) and (B.36) into Eq.(49) in
the text, we have:

LWLCP = 0. (B.37)

Under the non-cooperative setting, Lagrangean is given by:

$ = E0

( ∞X
t=0
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£
πWt − βEt

¡
πWt+1
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− καxWt

¤
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¡
πRt+1

¢¤ª
.

FONCs are given by:

ε

λ
πt +

1

2
μ3,t + μ4,t = 0,

(1 + ϕ) xt −
κα
2
μ3,t = 0. (B.38)

Alternative Lagrangean is given by:

$ = E0

( ∞X
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£
πWt − βEt

¡
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¢
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¢¤ª
.

FONCs are given by:

ε

λ
π∗t +

1

2
μ3,t − μ4,t = 0,

(1 + ϕ) x∗t +
κα
2
μ3,t = 0. (B.39)

Combining Eqs.(B.39) and (B.40), we have:

πWt =
1 + ϕ

ε (σ + ϕ)
xWt , (B.40)

xRt = 0. (B.41)

Plugging Eq.(B.40) into Eq.(B.28) yields:

xWt =
ε (σ + ϕ)

1 + ϕ+ ελ (σ + ϕ)
2Et

¡
xWt+1

¢
. (B.42)
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Iterating this forward yields:

xWt = 0 (B.43)

Plugging Eq.(B.43) into Eq.(B.41) yields:

πWt = 0. (B.44)

Iterating Eq.(B.29) yields:

πRt = 0. (B.45)

Combining Eqs.(B.44) and (B.45) yields:

πt = 0 ; π
∗
t = 0. (B.46)

Plugging Eq.(B.41) into Eq.(B.5) yields:

zt =
4 (σ + ϕ)Γ0

ηω3
ξRt (B.47)

Plugging Eqs.(B.43), (B.46) and (B.47) into Eq.(49) in the text, we have:

LNCWLCP,t =
2 (1 + ϕ) (σ + ϕ)

2
Γ20

ω23

h
ξ2t + (ξ

∗
t )
2
i

(B.48)

Plugging Eqs.(B.38) and (B.48) into LNCWLCP − LWLCP yields:

LNCWLCP − LWLCP =
2 (1 + ϕ) (σ + ϕ)

2 Γ20
(1− β)ω23

[var (ξt) + var (ξ
∗
t )] , (B.49)

which is consistent with the equality in line 13 in page 37 in the text.
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